
初二英语导学提纲
课题：8BUnit5 grammar 
课前参与: 
1. 预习P70-71,完成书本上的练习。

2. 重点难点解析：

1.to be+形容词+enough + to do sth.有足够的---（能力）做某事，到了做某事的--- 了。如Sandy够细心能注意到她周围的细微变化。
Sandy is _________  _____  _____  _________small changes around her. 如果句子的主语是物时，在不定式前加 “for sb.”作动词不定式的逻辑主语。如:这问题够容易，他能回答出来。The question is ______ ______ ________ ____to answer. 
2.to be too+形容词+to do sth. 太---而不能---。
如：他太害羞不能加入讨论。He is _______ _____ _____ _______ the discussion.
有时可以用 be not+形容词+enough + to do sth/so--- that---.替换。
如：他太小不能上学。He is _____  _______  _____ go to school.

 He is ______  ______  __________  ________ go to school
 He is______  _______  _______ he ______ go to school.

He is too slow to write down all the main points.
= He is ________  ________  ________  _______ write down all the main points.
课中参与

1． 根据句意，汉语或首字母提示写出单词。

1.The question is still under ________________ (discuss).

2.The little boy can’t __________________ ( 表达 ) himself.
3.We should be _______________  ( 耐心 )enough to listen to others。

4.Kitty is more g_________ than I thought, he is willing to share everything with others.

5.Suzy always writes down all the main _______________ (要点 )。

6.Kitty is busy with her ________________( dance ) lesson

二．选择题。
(    )1.He ran and ran ,but he couldn’t run__________ to catch the bus.

A. so fast    B. enough fast     C. too fast       D. fast enough

(    )2.Hanmei can speak good English ______.Her English is ______ that of Lucy’s.

       A. as well, as well             B. as well, as good as   

 C. too, as good                D. as well as, as well as  
(    )3.I find it ________ to work out this problem. You needn’t go to the teacher.
A. easy enough    B. easily enough    C. enough easy   D. very easily

(    )4.The room is ___________ three desks.

  A. very big to hold              B. big enough to hold  
C. enough big to hold           D. too big to hold

(    )5.Your brother is ________ young _______ride a bike.
       A. so; that     B. too; to     C. enough; to     D. too, that

(    )6.The workers are too busy _______.They have to keep working till they finish it.

     A. having a rest  B. not to have a rest  C. to have a rest  D. that they have a rest

(    )7.The old man was __________ angry________ a word. He just stood there.

     A. enough; to say    B. so; saying     C. very; to say     D. too; to say
(    )8.Is that man in a red T-shirt Mr Smith?--- It _____ be him. He is in London now.
      A. mustn’t     B. can’t       C. needn’t     D. shouldn’t

(    )9.I can’t get through because your car is __________.

      A. on the way    B. in the way    C. by the way     D. in some ways

(    )10.These days lots of people are working ______ to get _______ for their living.

      A . hard enough; enough money          B. enough hard; money enough

C. enough hardly; money enough        D. hardly enough; enough money
三．句型转换。

1.The problem is so difficult that I can’t work it out.

The problem isn’t ________  __________  _______  _______ to work out.
T he problem is______  __________  _______  _______  _______ work out.
2.The bag is too heavy for her to carry.

  The bag is ________ heavy _________ she _________  _________  _______.

3.This pair of shoes is too dirty that nobody will wear it.

 This pair of shoes is too dirty __________  __________  ________  ___________.

4.The boy is so young that he can’t dress himself.

The boy is________  __________  ________  ____________  ____________.

The boy isn’t _________  _____________  _________  _________  ________.

5.The girl isn’t thin enough to wear a skirt.

  The girl is _______  __________  ________ she ______  _______ a skirt.

  The girl is _______  ________   ________   __________ a skirt.

四．完成句子。

1.Suzy太害羞，没参加讨论。Suzy was ______________________________________.
2.西蒙兴奋的难以清晰地表达自己。Simon was ______________________________.
3.我速度太慢没有记下所有重点。I was _____________________________________.
4.她太粗心，走时没把帽子带走。She was __________________________________.
5.他们忙着上舞蹈课，没有听收音机。They were_____________________________.

6.她够细心能注意到她周围的细节。________________________________________.

7.英国太远，他独自去不了。The U K is ________  _______  _______  ________ ______  ________ go there ________  _________  ________
五．缺词填空
It was the third day after the earthquake h_________. The workers were still l_________ for survivors. “Come here, come here,” said a worker loudly. Others ran up to him. They found a w___________. She was lying in a s__________ way—she kneeled (跪着)on the ground and her h____________ was on the ground, too. The doctor tried to test her breath(呼吸 ), but she wasn’t a___________. The team moved on, but a worker s__________ ran back to her. He lay d__________ and put his head next to the ground, He tried to reach the space u_____________ the body. “There’s a baby!” he cried. It was a newly-born baby. When they took him out, he was s_________. There was a mobile phone in his blanket. It s__________ “ My dear baby, if you can live through, please r_____________ mom loves you.”

